More Complex Manipulations

Consider the following program:

Title1 ‘Module 2’;

Title2 ‘Working with more than one dataset.’;

DATA FITDATA;

   INPUT NAME $ SCHOOL $ WEIGHT WAIST PULSE CHINS SITUPS JUMPS;

   CARDS;

HODGES
OU
191
36
50
 5
162
60

KERR

OU
189
37
52
 2
110
60

PUTNAM
OSU
193
38
58
12
101
101

ROBERTS
TU
162
35
62
12
105
37

BLAKE

OSU
189
35
46
13
155
58

ALLEN

OU
182
36
56
 4
101
42

HOWARD
OU
211
38
56
 8
101
38

VINCENT
TU
167
34
60
 6
125
40

STEWART
OSU
176
31
74
15
200
40

PERRY

OU
154
33
56
17
251
250

   ;

PROC SORT DATA=FITDATA;

    BY NAME;

PROC PRINT DATA=FITDATA;

TITLE3 'FITNESS DATA FOR HODGES TO PERRY';

PROC SORT DATA= FITDATA;

  BY SCHOOL;

PROC MEANS DATA= FITDATA;

  BY SCHOOL;

  OUTPUT OUT= FITMEANS MEAN (CHINS JUMPS)=MC MJ;

TITLE3 'STATISTICS FOR NUMBER OF JUMPS';

PROC PRINT DATA= FITMEANS;

TITLE3 'FITMEANS';

DATA BOTH;

  MERGE FITDATA FITMEANS;

  BY SCHOOL;

PROC PRINT DATA= BOTH;

  TITLE3 'BOTH';

PROC CONTENTS Data= both VARNUM DIRECTORY DETAILS;

TITLE4 'Contents';

PROC FREQ Data= Both;

FORMAT MC MJ 12.2;

FORMAT SCHOOL $10. ;

TABLES SCHOOL*MC SCHOOL*MJ/NOROW NOCOL NOPERCENT;

TITLE4 'Freq';

DATA EVALUATION;

   SET FITDATA;

   SCALE= SITUPS/WEIGHT;

PROC PRINT DATA= EVALUATION;

  VAR NAME SCALE;

  TITLE4 'EVALUATION';

RUN;

Note the following

· PROC MEANS has an OUTPUT statement.  This statement creates an output dataset with mean values in it.  The MEAN parameter specifies the statistic to be calculated.  The statement (CHINS JUMPS) = MC MJ specifies the name of the variable containing the mean values.  The BY statement acts like a “Group By” in SQL.  Note that you must sort the data first if you use a BY statement.
· DATA BOTH joins the output of the means (FITMEANS) with the original data (FITDATA).  MERGE specifies the datasets.  The BY statement specifies the matching keys.  In SAS the two key names must be the same. 
